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Binomial Expansions ' U

1. Find the value of n if the expansion of

a) (2x+3)" has 18 terms b) (3x—-5)*"" has 26 terms
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2. Find the indicated term of each expansion.

a) the fifth term of (a-b)° b) the second term of (x—2)°
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3. The term that contains 5 in the expansion of (5—25)" is
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4, The term that contalns x*in the expansmn of 2x* —9)*is
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5. Determine the value of m if one term in the expansion of (x+m)'' is —4455x°.
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5. Find the constant term in the expansion of (x—-l?] .
—
o

X

'X (_fx N 5>\ 2.
\7_C 07 l( 'Viq”)L

-2 =0

‘-4 = O
\ = R\

V=D
\.7_(".5@‘1% (x>Y
- 720%™ =\ 220




